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% H4X Ei [ BER- AR (RIEM W 0
BHYN 6 =k 5kg 5B kg 850 EiE
BHYN 1B = 5kg e kg 800 EiE
BYN 8 =i 5kg i kg 700 EiE
BHYN 102 all 5kg #a kg 650 N
7o 14/16[& s 5kg & kg 950 N
71 7/9kg dtimE 1A 5= kg 950 EE
7Y 7/8kg i 1A 5= kg 800 ETBE
hyA 3kg =LA 1A £ kg | 1,500 iR
hvx 2 = 5k S5kg A kg | 1,150 48 BER
149+ AR =5 3kg 5= kg | 1,800 EE
1+3') 4/8% x5 2.6/3kg bS] kg | 2,300 £
ARXF 2E =k 4/6kg 5B kg | 2,150 EE JEX
ATA 5FE B 5kg e kg | 2,900 EiE
=R 3/4kgE k. 1A & kg | 1,200 EiE
+ B 3E F# i 5/5.5kg 5= kg | 2,600 # HEO
£ B 4E GEdor] 5/5.5kg & kg | 2,500 # BEO
At 3E B 3kg 78 kg | 2,900 EE JEX
B 2/3kg B 1A 5= kg | 1,900 EE JEX
TAT A 3/4 R 3ked & kg | 2,900 EE &~
r*5 4 1.5/2kg ES 1A 5 kg | 1,900 EiE
glEAAH = 5kg 7= kg | 1,300 Kk BEEHA4X
BAA 9/11 A =k 5kg 5= kg | 1,600 TBE
£ EBYINE B 500g 5 P | 2600
M7 102 FESE P P | 1,200
HEHE7 1 102 Fh [ 1kg P P | 3,500
ISR 100g KBR P P 500
ry+H #9300¢g JtiEE & kg | 1,600
H3LE 300/400g | E4N & kg | 2,950
HHT 100/130g o o} & kg | 3,200
HHT 150/180g =I5 & kg | 3,200
HHT 200/250g | EI& 1 kg | 3,200
HHT 250/300g RI& & kg | 3400
EHHT 30/40g i1]=] 1@ kg | 3,200
BEYYT 40/50g o & kg | 2,800
EYHT 50/60g e & kg | 2,700




